Kiz Mobility
2

Flip for x:panda Transit

€
B
i
- _.-'"':;::1
10

0
aa_
@
Item Number Part Number  Description Quantity
Transit Backrest Hardware Kit, Single Side, Flip
1-14 121067 Transit Retrofit Kit, Flip for x:panda 1
2 100746 M6 Flat Washer Blk Zn 2

08-06-2025



[tem Number  Part Number  Description Quantity
3 001239 P-Clip 3/16" 2
4 100658 M6 Nylock Nut BIk Zn 8
5 112491 Saddle, Dual, 1" x 2.0SP 4
6 002738 Spacer .313 OD x .243 ID x 1.68 long 2
7 001897 Washer, Dual, PSA 4
9 101781 M6 x 50mm Partial Thread BHCS BIlk ZC 6
10 003232 M6 x 55 BHCS Blk Zc 2
12 101733 M6 x 35 CLS10.9 DIN7991 FSHCS BLKZC 2
13 002086 Spacer, .380Dx.24IDx.31LG 2
14 100558 M6 Nyl Ins Domed Cap L/N Zc 2

08-06-2025




